		Summary of Bids Receiv	/ed			
Pr	<b>roject:</b> Kilbourne Rd, 9th St and Ken	-				
	ection: 17-00999-32-RS					
	ption: Mill and resurfacing/Kenosha	a culvert replacement				
	IS Pin: B-01163 Date: 6/19/2018					
					% Over/Under	\$ Over/Under En
Bidder	Address	City, State, Zip	Bond	Bid Price	Eng. Estimate	Estimate
Peter Baker & Son Company Payne & Dolan, Inc.	1349 Rockland Road 28435 W. Route 173	Lake Bluff, IL 60044 Antioch, IL 60002	Bid Bond Bid Bond	\$3,021,197.05 \$3,648,018.97	-10.24% 8.38%	. ,
r dyne & Dolan, me.	20433 W. Route 173			<i>\$3,040,010.37</i>	0.50%	<i>7202,007</i> .
Engineer's Estimate				\$3,365,931.75		
Design	IDOT(2)	Contract Bidder	S	ES then Plan Rack		
Finance	Bid Tab File	Resident Eng.	A	dministrative Assis	stant	
Construction	Project File	Request By Mail	Ν	/Igr Capital Prograr	nming	

貒	LakeCounty Division of Transportation
	Division of manaportation

Project: Kilbourne Rd, 9th St and Kenosha Rd Resurfacing Section: 17-00999-32-RS Description: Mill and resurfacing/Kenosha culvert replacement

CPMS Pin: B-01163

Item No.	Pay Code	Description	Quantity	Unit	Eng Esti	mate	Payne & Do	blan. Inc.	Peter Baker & S	on Company
	. uy couc		Quantity	0	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
1	20200100	EARTH EXCAVATION	11.00	CU YD	\$70.00	\$770.00	\$300.00	\$3,300.00	\$400.00	\$4,400.00
2	20900110	POROUS GRANULAR BACKFILL	54.00	CU YD	\$80.00	\$4,320.00	\$73.00	\$3,942.00	\$73.00	\$3,942.00
3	21101505	TOPSOIL EXCAVATION AND PLACEMENT	8.00	CU YD	\$110.00	\$880.00	\$300.00	\$2,400.00	\$200.00	\$1,600.00
4	21400100	GRADING AND SHAPING DITCHES	714.00	FOOT	\$10.00	\$7,140.00	\$18.00	\$12,852.00	\$18.00	\$12,852.00
5	25000210	SEEDING, CLASS 2A	0.70	ACRE	\$3,550.00	\$2,485.00	\$10,000.00	\$7,000.00	\$10,000.00	\$7,000.00
6	25000312	SEEDING, CLASS 4A	0.02	ACRE	\$3,900.00	\$78.00	\$50,000.00	\$1,000.00	\$50,000.00	\$1,000.00
7	25000400	NITROGEN FERTILIZER NUTRIENT	60.00	POUND	\$3.50	\$210.00	\$1.00	\$60.00	\$1.00	\$60.00
8	25000600	POTASSIUM FERTILIZER NUTRIENT	60.00	POUND	\$3.50	\$210.00	\$1.00	\$60.00	\$1.00	\$60.00
9	25100630	EROSION CONTROL BLANKET	3,250.00	SQ YD	\$2.00	\$6 <i>,</i> 500.00	\$3.00	\$9,750.00	\$3.00	\$9,750.00
10	28000305	TEMPORARY DITCH CHECKS	77.00	FOOT	\$20.00	\$1,540.00	\$15.00	\$1,155.00	\$15.00	\$1,155.00
11	28000400	PERIMETER EROSION BARRIER	3,139.00	FOOT	\$3.00	\$9 <i>,</i> 417.00	\$2.50	\$7,847.50	\$2.50	\$7,847.50
12	28000510	INLET FILTERS	22.00	EACH	\$175.00	\$3,850.00	\$185.00	\$4,070.00	\$185.00	\$4,070.00
13	28100107	STONE RIPRAP, CLASS A4	91.00	SQ YD	\$65.00	\$5,915.00	\$155.00	\$14,105.00	\$154.95	\$14,100.45
14	28200200	FILTER FABRIC	91.00	SQ YD	\$5.00	\$455.00	\$3.50	\$318.50	\$3.50	\$318.50
15	35101400	AGGREGATE BASE COURSE, TYPE B	98.00	TON	\$35.00	\$3 <i>,</i> 430.00	\$103.00	\$10,094.00	\$48.00	\$4,704.00
16	35101600	AGGREGATE BASE COURSE, TYPE B 4"	31.00	SQ YD	\$20.00	\$620.00	\$14.50	\$449.50	\$14.50	\$449.50
17	35101800	AGGREGATE BASE COURSE, TYPE B 6"	1,600.00	SQ YD	\$20.00	\$32,000.00	\$15.50	\$24,800.00	\$1.00	\$1,600.00
18	40600290	BITUMINOUS MATERIALS (TACK COAT)	87,531.00	POUND	\$0.50	\$43,765.50	\$0.01	\$875.31	\$0.01	\$875.31
19	40600825	POLYMERIZED LEVELING BINDER (MACHINE METHOD), N50	2,643.00	TON	\$85.00	\$224,655.00	\$103.00	\$272,229.00	\$77.75	\$205,493.25
20	40600982	HOT-MIX ASPHALT SURFACE REMOVAL - BUTT JOINT	2,412.00	SQ YD	\$9.00	\$21,708.00	\$11.00	\$26,532.00	\$9.00	\$21,708.00
21	40600990	TEMPORARY RAMP	216.00	SQ YD	\$15.00	\$3,240.00	\$38.00	\$8,208.00	\$8.00	\$1,728.00

貒	LakeCounty Division of Transportation
---	--

Project: Kilbourne Rd, 9th St and Kenosha Rd Resurfacing Section: 17-00999-32-RS

Description: Mill and resurfacing/Kenosha culvert replacement

CPMS Pin: B-01163

Item No.	Pay Code	Description	Quantity	Unit	Eng Est Unit Price	mate Extnd. Price	Payne & Do Unit Price	blan, Inc. Extnd. Price	Peter Baker & Se Unit Price	on Company Extnd. Price
22	40603080	HOT-MIX ASPHALT BINDER COURSE, IL-19.0, N50	7,723.00	TON	\$70.00	\$540,610.00	\$72.50	\$559,917.50	\$54.05	\$417,428.15
23	40603335	HOT-MIX ASPHALT SURFACE COURSE, MIX "D", N50	6,795.00	TON	\$70.00	\$475,650.00	\$81.68	\$555,015.60	\$71.00	\$482,445.00
24	42001300	PROTECTIVE COAT	234.00	SQ YD	\$3.50	\$819.00	\$0.01	\$2.34	\$0.01	\$2.34
25	42400200	PORTLAND CEMENT CONCRETE SIDEWALK 5 INCH	274.00	SQ FT	\$15.00	\$4,110.00	\$17.15	\$4,699.10	\$17.15	\$4,699.10
26	42400800	DETECTABLE WARNINGS	22.00	SQ FT	\$50.00	\$1,100.00	\$32.00	\$704.00	\$32.00	\$704.00
27	44000155	HOT-MIX ASPHALT SURFACE REMOVAL, 1 1/2"	9,662.00	SQ YD	\$5.00	\$48,310.00	\$2.45	\$23,671.90	\$3.10	\$29,952.20
28	44000157	HOT-MIX ASPHALT SURFACE REMOVAL, 2"	19,589.00	SQ YD	\$3.50	\$68,561.50	\$2.65	\$51,910.85	\$2.80	\$54,849.20
29	44000158	HOT-MIX ASPHALT SURFACE REMOVAL, 2 1/4"	8,210.00	SQ YD	\$4.00	\$32,840.00	\$2.89	\$23,726.90	\$3.40	\$27,914.00
30	44000159	HOT-MIX ASPHALT SURFACE REMOVAL, 2 1/2"	30,397.00	SQ YD	\$3.50	\$106,389.50	\$2.85	\$86,631.45	\$2.95	\$89,671.15
31	44000200	DRIVEWAY PAVEMENT REMOVAL	343.00	SQ YD	\$15.00	\$5,145.00	\$77.00	\$26,411.00	\$28.00	\$9,604.00
32	44000500	COMBINATION CURB AND GUTTER REMOVAL	877.00	FOOT	\$9.00	\$7,893.00	\$14.65	\$12,848.05	\$14.65	\$12,848.05
33	44000600	SIDEWALK REMOVAL	286.00	SQ FT	\$5.00	\$1,430.00	\$5.00	\$1,430.00	\$5.00	\$1,430.00
34	44201761	CLASS D PATCHES, TYPE I, 10 INCH	339.00	SQ YD	\$90.00	\$30,510.00	\$115.00	\$38,985.00	\$30.00	\$10,170.00
35	44201765	CLASS D PATCHES, TYPE II, 10 INCH	509.00	SQ YD	\$100.00	\$50,900.00	\$93.00	\$47,337.00	\$30.00	\$15,270.00
36	44201769	CLASS D PATCHES, TYPE III, 10 INCH	1,527.00	SQ YD	\$85.00	\$129,795.00	\$80.00	\$122,160.00	\$30.00	\$45,810.00
37	44201771	CLASS D PATCHES, TYPE IV, 10 INCH	1,018.00	SQ YD	\$80.00	\$81,440.00	\$70.00	\$71,260.00	\$30.00	\$30,540.00

貒	LakeCounty Division of Transportation
	Division of manaportation

Project: Kilbourne Rd, 9th St and Kenosha Rd Resurfacing Section: 17-00999-32-RS Description: Mill and resurfacing/Kenosha culvert replacement

CPMS Pin: B-01163

Item No.	Pay Code	Description	Quantity	Unit	Eng Est	imate	Payne & Do	olan Inc	Peter Baker & Son Company		
	. ay coue		Quantity	•	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	
38	48101200	AGGREGATE SHOULDERS, TYPE B	739.00	TON	\$40.00	\$29,560.00	\$59.60	\$44,044.40	\$40.00	\$29,560.00	
39	48203021	HOT-MIX ASPHALT SHOULDERS, 6"	12,826.00	SQ YD	\$15.00	\$192,390.00	\$31.50	\$404,019.00	\$20.65	\$264,856.90	
40	50102400	CONCRETE REMOVAL	35.00	CU YD	\$1,550.00	\$54,250.00	\$2,100.00	\$73,500.00	\$2,100.00	\$73,500.00	
41	50105220	PIPE CULVERT REMOVAL	223.00	FOOT	\$25.00	\$5,575.00	\$90.00	\$20,070.00	\$41.00	\$9,143.00	
42	50200300	COFFERDAM EXCAVATION	60.00	CU YD	\$30.00	\$1,800.00	\$55.50	\$3,330.00	\$55.50	\$3,330.00	
43	50200450	REMOVAL AND DISPOSAL OF UNSUITABLE MATERIAL FOR STRUCTURES	36.00	CU YD	\$45.00	\$1,620.00	\$70.00	\$2,520.00	\$70.00	\$2,520.00	
44	50201101	COFFERDAM (TYPE 1) (LOCATION - 1)	1.00	EACH	\$15,000.00	\$15,000.00	\$7,400.00	\$7,400.00	\$7,400.00	\$7,400.00	
45	50201102	COFFERDAM (TYPE 1) (LOCATION - 2)	1.00	EACH	\$15,000.00	\$15,000.00	\$7,400.00	\$7,400.00	\$7,400.00	\$7,400.00	
46	50300225	CONCRETE STRUCTURES	27.00	CU YD	\$1,350.00	\$36,450.00	\$3,445.00	\$93,015.00	\$3,445.00	\$93,015.00	
47	52200100	FURNISHING SOLDIER PILES (HP SECTION)	132.00	FOOT	\$35.00	\$4,620.00	\$265.00	\$34,980.00	\$265.00	\$34,980.00	
48	52200150	DRIVING SOLDIER PILES	132.00	FOOT	\$15.00	\$1,980.00	\$1.00	\$132.00	\$1.00	\$132.00	
49	54011005	PRECAST CONCRETE BOX CULVERTS 10' X 5'	60.00	FOOT	\$800.00	\$48,000.00	\$1,745.00	\$104,700.00	\$1,745.00	\$104,700.00	
50	59100100	GEOCOMPOSITE WALL DRAIN	12.00	SQ YD	\$30.00	\$360.00	\$35.00	\$420.00	\$35.00	\$420.00	
51	60100905	PIPE DRAINS 4"	200.00	FOOT	\$15.00	\$3,000.00	\$120.00	\$24,000.00	\$30.00	\$6,000.00	
52	60100915	PIPE DRAINS 6"	200.00	FOOT	\$30.00	\$6,000.00	\$150.00	\$30,000.00	\$30.00	\$6 <i>,</i> 000.00	
53	60261320	INLETS TO BE ADJUSTED WITH NEW TYPE 11V FRAME AND GRATE	2.00	EACH	\$550.00	\$1,100.00	\$1,275.00	\$2,550.00	\$675.00	\$1,350.00	
54	60603900	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.12 (ABUTTING EXISTING PAVEMENT)	726.00	FOOT	\$40.00	\$29,040.00	\$29.35	\$21,308.10	\$29.35	\$21,308.10	

				Re	eturn Bid Tabula	ition				
		Kilbourne Rd, 9th St and Kenosha Rd Resurfacing 17-00999-32-RS								
	Description:	Mill and resurfacing/Kenosha culvert replacement								
	CPMS Pin: Let Date:	B-01163 6/19/2018								
Item No.	Pay Code	Description	Quantity	Unit	Eng Esti	mate	Payne & Do	olan, Inc.	Peter Baker & S	on Company
					Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
55	60605100	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.24 (ABUTTING EXISTING PAVEMENT)	392.00	FOOT	\$45.00	\$17,640.00	\$49.50	\$19,404.00	\$49.50	\$19,404.00
56	63000001	STEEL PLATE BEAM GUARDRAIL, TYPE A, 6 FOOT POSTS	640.00	FOOT	\$25.00	\$16,000.00	\$26.50	\$16,960.00	\$23.00	\$14,720.00
57	63000030	STRONG POST GUARDRAIL ATTACHED TO CULVERT	28.00	FOOT	\$185.00	\$5,180.00	\$255.00	\$7,140.00	\$140.00	\$3,920.00
58	63100167	TRAFFIC BARRIER TERMINAL, TYPE 1 (SPECIAL) TANGENT	2.00	EACH	\$2,650.00	\$5,300.00	\$3,300.00	\$6,600.00	\$2,680.00	\$5,360.00
59	63200310	GUARDRAIL REMOVAL	755.00	FOOT	\$6.00	\$4,530.00	\$5.00	\$3,775.00	\$5.00	\$3,775.00
60	67100100	MOBILIZATION	1.00	LSUM	\$235,979.00	\$235,979.00	\$249,000.00	\$249,000.00	\$181,232.00	\$181,232.00
61	70106800	CHANGEABLE MESSAGE SIGN	4.00	CAL MO	\$1,450.00	\$5,800.00	\$1,200.00	\$4,800.00	\$1,000.00	\$4,000.00
62		TEMPORARY PAVEMENT MARKING LETTERS AND SYMBOLS	427.00	SQ FT	\$2.00	\$854.00	\$1.00	\$427.00	\$0.01	\$4.27
63	70300220	TEMPORARY PAVEMENT MARKING - LINE 4"	31,073.00	FOOT	\$0.50	\$15,536.50	\$0.20	\$6,214.60	\$0.01	\$310.73
64	70300230	TEMPORARY PAVEMENT MARKING - LINE 5"	40,606.00	FOOT	\$0.50	\$20,303.00	\$0.22	\$8,933.32	\$0.01	\$406.0
65	70300240	TEMPORARY PAVEMENT MARKING - LINE 6"	1,596.00	FOOT	\$0.50	\$798.00	\$0.28	\$446.88	\$0.01	\$15.9
66	70300260	TEMPORARY PAVEMENT MARKING - LINE 12"	768.00	FOOT	\$1.00	\$768.00	\$0.60	\$460.80	\$0.01	\$7.6

貒	LakeCounty Division of Transportation
---	--

Project: Kilbourne Rd, 9th St and Kenosha Rd Resurfacing Section: 17-00999-32-RS

Description: Mill and resurfacing/Kenosha culvert replacement

CPMS Pin: B-01163

Item No.	Pay Code	Description	Quantity	Unit	Eng Esti Unit Price	mate Extnd. Price	Payne & Do Unit Price	blan, Inc. Extnd. Price	Peter Baker & So Unit Price	on Company Extnd. Price
67	70300280	TEMPORARY PAVEMENT MARKING - LINE 24"	79.00	FOOT	\$2.50	\$197.50	\$1.00	\$79.00	\$0.01	\$0.79
68	78000300	THERMOPLASTIC PAVEMENT MARKING - LINE 5"	1,208.00	FOOT	\$2.00	\$2,416.00	\$0.65	\$785.20	\$0.65	\$785.20
69	88600600	DETECTOR LOOP REPLACEMENT	1,001.00	FOOT	\$20.00	\$20,020.00	\$15.30	\$15,315.30	\$15.30	\$15,315.30
70	LC200052	EXCAVATING EXISTING SHOULDER	348.00	UNIT	\$465.00	\$161,820.00	\$175.00	\$60,900.00	\$275.00	\$95,700.00
71	LC200501	MAINTENANCE OF TEMPORARY EROSION CONTROL SYSTEMS	14,438.00	UNIT	\$1.00	\$14,438.00	\$1.00	\$14,438.00	\$1.00	\$14,438.00
72	LC400100	BUTT JOINT FOR ENTRANCE RESURFACING	592.00	FOOT	\$10.00	\$5,920.00	\$1.00	\$592.00	\$18.20	\$10,774.40
73	LC400202	SEAL COAT	623.00	SQ YD	\$5.00	\$3,115.00	\$23.00	\$14,329.00	\$8.70	\$5,420.10
74	LC600003	STORM SEWERS TO BE CLEANED	84.00	FOOT	\$9.00	\$756.00	\$200.00	\$16,800.00	\$17.86	\$1,500.24
75	LC600200	INSTALL SURVEY MONUMENTS	7.00	EACH	\$1,000.00	\$7,000.00	\$1,000.00	\$7,000.00	\$727.00	\$5,089.00
76	LC600204	FENCE TO BE REMOVED AND REPLACED	100.00	FOOT	\$50.00	\$5,000.00	\$56.00	\$5,600.00	\$35.00	\$3,500.00
77	LC780020	GROOVED THERMOPLASTIC PAVEMENT MARKINGS - LETTERS AND SYMBOLS	427.00	SQ FT	\$5.00	\$2,135.00	\$5.60	\$2,391.20	\$5.60	\$2,391.20
78	LC780021	GROOVED THERMOPLASTIC PAVEMENT MARKINGS - LINE 4"	31,073.00	FOOT	\$1.25	\$38,841.25	\$0.75	\$23,304.75	\$0.75	\$23,304.75
79	LC780022	GROOVED THERMOPLASTIC PAVEMENT MARKINGS - LINE 5"	39,398.00	FOOT	\$1.50	\$59,097.00	\$1.00	\$39,398.00	\$1.00	\$39,398.00
80	LC780023	GROOVED THERMOPLASTIC PAVEMENT MARKINGS - LINE 6"	1,596.00	FOOT	\$2.00	\$3,192.00	\$1.40	\$2,234.40	\$1.40	\$2,234.40
81	LC780025	GROOVED THERMOPLASTIC PAVEMENT MARKINGS - LINE 12"	768.00	FOOT	\$5.00	\$3,840.00	\$2.75	\$2,112.00	\$2.75	\$2,112.00

貒	LakeCounty Division of Transportation
---	--

Project: Kilbourne Rd, 9th St and Kenosha Rd Resurfacing Section: 17-00999-32-RS

Description: Mill and resurfacing/Kenosha culvert replacement

CPMS Pin: B-01163

ltem No.	Pay Code	Description	Quantity	Unit	Eng Esti	moto	Payne & Do	lan Inc	Peter Baker & S	on Comnony
item NO.	Pay Coue	Description	Quantity	Unit	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
82	LC780026	GROOVED THERMOPLASTIC PAVEMENT MARKINGS - LINE 24"	79.00	FOOT	\$10.00	\$790.00	\$5.60	\$442.40	\$5.60	\$442.40
83	LC782000	GUARDRAIL REFLECTORS	37.00	EACH	\$9.50	\$351.50	\$10.00	\$370.00	\$12.00	\$444.00
84	LC800850	REMOVE TRAFFIC COUNTER	1.00	EACH	\$500.00	\$500.00	\$880.00	\$880.00	\$880.00	\$880.00
85	X0325825	PAVEMENT REPLACEMENT	252.00	SQ YD	\$90.00	\$22,680.00	\$95.00	\$23,940.00	\$92.05	\$23,196.60
86	X0426200	DEWATERING	1.00	LSUM	\$30,000.00	\$30,000.00	\$21,680.00	\$21,680.00	\$21,680.00	\$21,680.00
87	X2020110	GRADING AND SHAPING SHOULDERS	311.00	UNIT	\$45.00	\$13,995.00	\$100.00	\$31,100.00	\$50.35	\$15,658.85
88	X2800500	INLET PROTECTION, SPECIAL	8.00	EACH	\$230.00	\$1,840.00	\$150.00	\$1,200.00	\$150.00	\$1,200.00
89	X6026050	SANITARY MANHOLES TO BE ADJUSTED	1.00	EACH	\$800.00	\$800.00	\$1,500.00	\$1,500.00	\$4,100.00	\$4,100.00
90	X6030205	FRAMES AND GRATES TO BE ADJUSTED (SPECIAL)	10.00	EACH	\$1,150.00	\$11,500.00	\$1,000.00	\$10,000.00	\$1,195.00	\$11,950.00
91	X6700405	ENGINEER'S FIELD OFFICE, TYPE A (MODIFIED)	4.00	CAL MO	\$3,500.00	\$14,000.00	\$1,600.00	\$6,400.00	\$1,600.00	\$6,400.00
92	X7010216	TRAFFIC CONTROL AND PROTECTION, (SPECIAL)	1.00	LSUM	\$111,310.00	\$111,310.00	\$23,500.00	\$23,500.00	\$203,816.00	\$203,816.00
93	XX000856	MAILBOX REMOVAL AND RELOCATION	6.00	EACH	\$300.00	\$1,800.00	\$361.87	\$2,171.22	\$275.00	\$1,650.00
94	XX006343	SEEDING (COMPLETE)	321.00	SQ YD	\$12.50	\$4,012.50	\$13.00	\$4,173.00	\$13.00	\$4,173.00
95	XX206400	MAILBOX POST	1.00	EACH	\$25.00	\$25.00	\$160.00	\$160.00	\$400.00	\$400.00
96	Z0033700	LONGITUDINAL JOINT SEALANT	21,822.00	FOOT	\$2.50	\$54,555.00	\$2.75	\$60,010.50	\$3.01	\$65,684.22
97	Z0062450	SAWING PAVEMENT (FULL DEPTH)	14,744.00	FOOT	\$2.50	\$36,860.00	\$1.35	\$19,904.40	\$0.05	\$737.20
		Bid Total				\$3,365,931.75		\$3,648,018.97		\$3,021,197.05

貒	LakeCo Division of	ounty Transportation							
	Section:		Return	Bid Deta	ails				
			Eng Estimate						
ltem No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
1	20200100	EARTH EXCAVATION	11.00	CU YD	\$70.00	\$770.00	\$300.00	\$400.00	\$350.00
2	20900110	POROUS GRANULAR BACKFILL	54.00	CU YD	\$80.00	\$4,320.00	\$73.00	\$73.00	\$73.00
3	21101505	TOPSOIL EXCAVATION AND PLACEMENT	8.00	CU YD	\$110.00	\$880.00	\$200.00	\$300.00	\$250.00
4	21400100	GRADING AND SHAPING DITCHES	714.00	FOOT	\$10.00	\$7,140.00	\$18.00	\$18.00	\$18.00
5	25000210	SEEDING, CLASS 2A	0.70	ACRE	\$3,550.00	\$2,485.00	\$10,000.00	\$10,000.00	\$10,000.00
6	25000312	SEEDING, CLASS 4A	0.02	ACRE	\$3,900.00	\$78.00	\$50,000.00	\$50,000.00	\$50,000.00
7	25000400	NITROGEN FERTILIZER NUTRIENT	60.00	POUND	\$3.50	\$210.00	\$1.00	\$1.00	\$1.00
8	25000600	POTASSIUM FERTILIZER NUTRIENT	60.00	POUND	\$3.50	\$210.00	\$1.00	\$1.00	\$1.00
9	25100630	EROSION CONTROL BLANKET	3,250.00	SQ YD	\$2.00	\$6,500.00	\$3.00	\$3.00	\$3.00
10	28000305	TEMPORARY DITCH CHECKS	77.00	FOOT	\$20.00	\$1,540.00	\$15.00	\$15.00	\$15.00
11	28000400	PERIMETER EROSION BARRIER	3,139.00	FOOT	\$3.00	\$9,417.00	\$2.50	\$2.50	\$2.50
12	28000510	INLET FILTERS	22.00	EACH	\$175.00	\$3 <i>,</i> 850.00	\$185.00	\$185.00	\$185.00
13	28100107	STONE RIPRAP, CLASS A4	91.00	SQ YD	\$65.00	\$5,915.00	\$154.95	\$155.00	\$154.98
14	28200200	FILTER FABRIC	91.00	SQ YD	\$5.00	\$455.00	\$3.50	\$3.50	\$3.50
15	35101400	AGGREGATE BASE COURSE, TYPE B	98.00	TON	\$35.00	\$3,430.00	\$48.00	\$103.00	\$75.50

業	LakeCo Division of	ounty Transportation							
	Section:		Return	Bid Deta	iils				
	Eng Estimate								
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
16	35101600	AGGREGATE BASE COURSE, TYPE B 4"	31.00	SQ YD	\$20.00	\$620.00	\$14.50	\$14.50	\$14.50
17	35101800	AGGREGATE BASE COURSE, TYPE B 6"	1,600.00	SQ YD	\$20.00	\$32,000.00	\$1.00	\$15.50	\$8.25
18	40600290	BITUMINOUS MATERIALS (TACK COAT)	87,531.00	POUND	\$0.50	\$43,765.50	\$0.01	\$0.01	\$0.01
19	40600825	POLYMERIZED LEVELING BINDER (MACHINE METHOD), N50	2,643.00	TON	\$85.00	\$224,655.00	\$77.75	\$103.00	\$90.38
20	40600982	HOT-MIX ASPHALT SURFACE REMOVAL - BUTT JOINT	2,412.00	SQ YD	\$9.00	\$21,708.00	\$9.00	\$11.00	\$10.00
21	40600990	TEMPORARY RAMP	216.00	SQ YD	\$15.00	\$3,240.00	\$8.00	\$38.00	\$23.00
22	40603080	HOT-MIX ASPHALT BINDER COURSE, IL-19.0, N50	7,723.00	TON	\$70.00	\$540,610.00	\$54.05	\$72.50	\$63.28
23	/10603335	HOT-MIX ASPHALT SURFACE COURSE, MIX "D", N50	6,795.00	TON	\$70.00	\$475,650.00	\$71.00	\$81.68	\$76.34
24	42001300	PROTECTIVE COAT	234.00	SQ YD	\$3.50	\$819.00	\$0.01	\$0.01	\$0.01
25	42400200	PORTLAND CEMENT CONCRETE SIDEWALK 5	274.00	SQ FT	\$15.00	\$4,110.00	\$17.15	\$17.15	\$17.15
26	42400800	DETECTABLE WARNINGS	22.00	SQ FT	\$50.00	\$1,100.00	\$32.00	\$32.00	\$32.00

業	LakeCo	Dunty Transportation							
	Section:		Return	Bid Deta	ails				
	Eng Estimate								
ltem No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
27	44000155	HOT-MIX ASPHALT SURFACE REMOVAL, 1 1/2"	9,662.00	SQ YD	\$5.00	\$48,310.00	\$2.45	\$3.10	\$2.78
28	44000157	HOT-MIX ASPHALT SURFACE REMOVAL, 2"	19,589.00	SQ YD	\$3.50	\$68,561.50	\$2.65	\$2.80	\$2.73
29	44000158	HOT-MIX ASPHALT SURFACE REMOVAL, 2 1/4"	8,210.00	SQ YD	\$4.00	\$32,840.00	\$2.89	\$3.40	\$3.15
30	44000159	HOT-MIX ASPHALT SURFACE REMOVAL, 2 1/2"	30,397.00	SQ YD	\$3.50	\$106,389.50	\$2.85	\$2.95	\$2.90
31	44000200	DRIVEWAY PAVEMENT REMOVAL	343.00	SQ YD	\$15.00	\$5,145.00	\$28.00	\$77.00	\$52.50
32	44000500	COMBINATION CURB AND GUTTER REMOVAL	877.00	FOOT	\$9.00	\$7,893.00	\$14.65	\$14.65	\$14.65
33	44000600	SIDEWALK REMOVAL	286.00	SQ FT	\$5.00	\$1,430.00	\$5.00	\$5.00	\$5.00
34	44201761	CLASS D PATCHES, TYPE I, 10 INCH	339.00	SQ YD	\$90.00	\$30,510.00	\$30.00	\$115.00	\$72.50
35	44201765	CLASS D PATCHES, TYPE II, 10 INCH	509.00	SQ YD	\$100.00	\$50,900.00	\$30.00	\$93.00	\$61.50
36	44201769	CLASS D PATCHES, TYPE III, 10 INCH	1,527.00	SQ YD	\$85.00	\$129,795.00	\$30.00	\$80.00	\$55.00
37	44201771	CLASS D PATCHES, TYPE IV, 10 INCH	1,018.00	SQ YD	\$80.00	\$81,440.00	\$30.00	\$70.00	\$50.00
38	48101200	AGGREGATE SHOULDERS, TYPE B	739.00	TON	\$40.00	\$29,560.00	\$40.00	\$59.60	\$49.80

業	LakeCc Division of T	Dunty Transportation							
	Section:		Return	Bid Deta	ails				
					Eng Es	timate			
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
39	48203021	HOT-MIX ASPHALT SHOULDERS, 6"	12,826.00	SQ YD	\$15.00	\$192,390.00	\$20.65	\$31.50	\$26.08
40	50102400	CONCRETE REMOVAL	35.00	CU YD	\$1,550.00	\$54,250.00	\$2,100.00	\$2,100.00	\$2,100.00
41	50105220	PIPE CULVERT REMOVAL	223.00	FOOT	\$25.00	\$5,575.00	\$41.00	\$90.00	\$65.50
42	50200300	COFFERDAM EXCAVATION	60.00	CU YD	\$30.00	\$1,800.00	\$55.50	\$55.50	\$55.50
43	50200450	REMOVAL AND DISPOSAL OF UNSUITABLE MATERIAL FOR STRUCTURES	36.00	CU YD	\$45.00	\$1,620.00	\$70.00	\$70.00	\$70.00
44	50201101	COFFERDAM (TYPE 1) (LOCATION - 1)	1.00	EACH	\$15,000.00	\$15,000.00	\$7,400.00	\$7,400.00	\$7,400.00
45	50201102	COFFERDAM (TYPE 1) (LOCATION - 2)	1.00	EACH	\$15,000.00	\$15,000.00	\$7,400.00	\$7,400.00	\$7,400.00
46	50300225	CONCRETE STRUCTURES	27.00	CU YD	\$1,350.00	\$36,450.00	\$3,445.00	\$3 <i>,</i> 445.00	\$3 <i>,</i> 445.00
47	52200100	FURNISHING SOLDIER PILES (HP SECTION)	132.00	FOOT	\$35.00	\$4,620.00	\$265.00	\$265.00	\$265.00
48	52200150	DRIVING SOLDIER PILES	132.00	FOOT	\$15.00	\$1,980.00	\$1.00	\$1.00	\$1.00
49	54011005	PRECAST CONCRETE BOX CULVERTS 10' X 5'	60.00	FOOT	\$800.00	\$48,000.00	\$1,745.00	\$1,745.00	\$1,745.00
50	59100100	GEOCOMPOSITE WALL DRAIN	12.00	SQ YD	\$30.00	\$360.00	\$35.00	\$35.00	\$35.00
51	60100905	PIPE DRAINS 4"	200.00	FOOT	\$15.00	\$3,000.00	\$30.00	\$120.00	\$75.00
52	60100915	PIPE DRAINS 6"	200.00	FOOT	\$30.00	\$6,000.00	\$30.00	\$150.00	\$90.00

	Project: Section: Description: CPMS Pin:	Transportation Kilbourne Rd, 9th St and Kenosha Rd Resurfacing 17-00999-32-RS Mill and resurfacing/Kenosha culvert replacement	Return	Bid Deta	ails				
ltem No.	Pay Code	Description	Quantity	Unit	Eng Es Unit Price	timate Extnd. Price	Min Bid Price	Max. Bid Price	Avg Bid Price
53	60261320	INLETS TO BE ADJUSTED WITH NEW TYPE 11V FRAME AND GRATE	2.00	EACH	\$550.00	\$1,100.00	\$675.00	\$1,275.00	\$975.00
54	60603900	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.12 (ABUTTING EXISTING PAVEMENT)	726.00	FOOT	\$40.00	\$29,040.00	\$29.35	\$29.35	\$29.35
55	60605100	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.24 (ABUTTING EXISTING PAVEMENT)	392.00	FOOT	\$45.00	\$17,640.00	\$49.50	\$49.50	\$49.50
56	63000001	STEEL PLATE BEAM GUARDRAIL, TYPE A, 6 FOOT POSTS	640.00	FOOT	\$25.00	\$16,000.00	\$23.00	\$26.50	\$24.75
57	63000030	STRONG POST GUARDRAIL ATTACHED TO CULVERT	28.00	FOOT	\$185.00	\$5,180.00	\$140.00	\$255.00	\$197.50
58	63100167	TRAFFIC BARRIER TERMINAL, TYPE 1 (SPECIAL) TANGENT	2.00	EACH	\$2,650.00	\$5,300.00	\$2,680.00	\$3,300.00	\$2,990.00
59 60		GUARDRAIL REMOVAL	755.00 1.00	FOOT LSUM	<mark>\$6.00</mark> \$235,979.00	<mark>\$4,530.00</mark> \$235,979.00	<mark>\$5.00</mark> \$181,232.00		<mark>\$5.00</mark> \$215,116.00

業	LakeCc	Dunty Transportation							
	Section: Description: CPMS Pin:	Kilbourne Rd, 9th St and Kenosha Rd Resurfacing 17-00999-32-RS Mill and resurfacing/Kenosha culvert replacement B-01163 6/19/2018	Return	Bid Deta	ails				
			Eng Estimate						
Item No. 61	Pay Code	Description CHANGEABLE MESSAGE SIGN	Quantity 4.00	Unit CAL MO	Unit Price \$1,450.00	Extnd. Price \$5,800.00	Min. Bid Price \$1,000.00	Max. Bid Price \$1,200.00	Avg. Bid Price \$1,100.00
62	70300210	TEMPORARY PAVEMENT MARKING LETTERS AND SYMBOLS	427.00	SQ FT	\$2.00	\$854.00	\$0.01		\$0.51
63	70200220	TEMPORARY PAVEMENT MARKING - LINE 4"	31,073.00	FOOT	\$0.50	\$15,536.50	\$0.01	\$0.20	\$0.11
64	70200220	TEMPORARY PAVEMENT MARKING - LINE 5"	40,606.00	FOOT	\$0.50	\$20,303.00	\$0.01	\$0.22	\$0.12
65	70300240	TEMPORARY PAVEMENT MARKING - LINE 6"	1,596.00	FOOT	\$0.50	\$798.00	\$0.01	\$0.28	\$0.15
66	/0300260	TEMPORARY PAVEMENT MARKING - LINE 12"	768.00	FOOT	\$1.00	\$768.00	\$0.01	\$0.60	\$0.31
67	70200280	TEMPORARY PAVEMENT MARKING - LINE 24"	79.00	FOOT	\$2.50	\$197.50	\$0.01	\$1.00	\$0.51
68	78000300	THERMOPLASTIC PAVEMENT MARKING - LINE 5"	1,208.00	FOOT	\$2.00	\$2,416.00	\$0.65	\$0.65	\$0.65
69	88600600	DETECTOR LOOP REPLACEMENT	1,001.00	FOOT	\$20.00	\$20,020.00	\$15.30	\$15.30	\$15.30

業	LakeC Division of	Ounty Transportation							
	Section: Description: CPMS Pin:	: Kilbourne Rd, 9th St and Kenosha Rd Resurfacing : 17-00999-32-RS : Mill and resurfacing/Kenosha culvert replacement : B-01163 : 6/19/2018	Return	Bid Deta	ails				
					Eng Es	timate			
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
70	) LC200052	EXCAVATING EXISTING SHOULDER	348.00	UNIT	\$465.00	\$161,820.00	\$175.00	\$275.00	\$225.00
71	LC200501	MAINTENANCE OF TEMPORARY EROSION CONTROL SYSTEMS	14,438.00	UNIT	\$1.00	\$14,438.00	\$1.00	\$1.00	\$1.00
72	2 LC400100	BUTT JOINT FOR ENTRANCE RESURFACING	592.00	FOOT	\$10.00	\$5,920.00	\$1.00	\$18.20	\$9.60
73	3 LC400202	SEAL COAT	623.00	SQ YD	\$5.00	\$3,115.00	\$8.70	\$23.00	\$15.85
74	LC600003	STORM SEWERS TO BE CLEANED	84.00	FOOT	\$9.00	\$756.00	\$17.86	\$200.00	\$108.93
75	5 LC600200	INSTALL SURVEY MONUMENTS	7.00	EACH	\$1,000.00	\$7,000.00	\$727.00	\$1,000.00	\$863.50
76	5 LC600204	FENCE TO BE REMOVED AND REPLACED	100.00	FOOT	\$50.00	\$5,000.00	\$35.00	\$56.00	\$45.50
77	7 LC780020	GROOVED THERMOPLASTIC PAVEMENT MARKINGS - LETTERS AND SYMBOLS	427.00	SQ FT	\$5.00	\$2,135.00	\$5.60	\$5.60	\$5.60
78	3 LC780021	GROOVED THERMOPLASTIC PAVEMENT MARKINGS - LINE 4"	31,073.00	FOOT	\$1.25	\$38,841.25	\$0.75	\$0.75	\$0.75
79	) LC780022	GROOVED THERMOPLASTIC PAVEMENT MARKINGS - LINE 5"	39,398.00	FOOT	\$1.50	\$59,097.00	\$1.00	\$1.00	\$1.00
80	) LC780023	GROOVED THERMOPLASTIC PAVEMENT MARKINGS - LINE 6"	1,596.00	FOOT	\$2.00	\$3,192.00	\$1.40	\$1.40	\$1.40

	Return Bid Details         Project:       Kilbourne Rd, 9th St and Kenosha Rd Resurfacing         Section:       17-00999-32-RS         Description:       Mill and resurfacing/Kenosha culvert replacement         CPMS Pin:       B-01163         Let Date:       6/19/2018												
					Ĭ								
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price				
81	LC780025	GROOVED THERMOPLASTIC PAVEMENT MARKINGS - LINE 12"	768.00	FOOT	\$5.00	\$3,840.00	\$2.75	\$2.75	\$2.75				
82	LC780026	GROOVED THERMOPLASTIC PAVEMENT MARKINGS - LINE 24"	79.00	FOOT	\$10.00	\$790.00	\$5.60	\$5.60	\$5.60				
83	LC782000	GUARDRAIL REFLECTORS	37.00	EACH	\$9.50	\$351.50	\$10.00	\$12.00	\$11.00				
84	LC800850	REMOVE TRAFFIC COUNTER	1.00	EACH	\$500.00	\$500.00	\$880.00	\$880.00	\$880.00				
85	X0325825	PAVEMENT REPLACEMENT	252.00	SQ YD	\$90.00	\$22,680.00	\$92.05	\$95.00	\$93.53				
86	X0426200	DEWATERING	1.00	LSUM	\$30,000.00	\$30,000.00	\$21,680.00	\$21,680.00	\$21,680.00				
87	X2020110	GRADING AND SHAPING SHOULDERS	311.00	UNIT	\$45.00	\$13,995.00	\$50.35	\$100.00	\$75.18				
88	X2800500	INLET PROTECTION, SPECIAL	8.00	EACH	\$230.00	\$1,840.00	\$150.00	\$150.00	\$150.00				
89	X6026050	SANITARY MANHOLES TO BE ADJUSTED	1.00	EACH	\$800.00	\$800.00	\$1,500.00	\$4,100.00	\$2,800.00				
90	X6030205	FRAMES AND GRATES TO BE ADJUSTED (SPECIAL)	10.00	EACH	\$1,150.00	\$11,500.00	\$1,000.00	\$1,195.00	\$1,097.50				
91	X6700405	ENGINEER'S FIELD OFFICE, TYPE A (MODIFIED)	4.00	CAL MO	\$3,500.00	\$14,000.00	\$1,600.00	\$1,600.00	\$1,600.00				

業	LakeCo Division of	Dunty Transportation							
			Return	Bid Deta	ails				
	•	Kilbourne Rd, 9th St and Kenosha Rd Resurfacing							
		17-00999-32-RS							
	Description: CPMS Pin:	Mill and resurfacing/Kenosha culvert replacement B-01163							
		6/19/2018							
					Eng Es	timate			
ltem No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
92	X7010216	TRAFFIC CONTROL AND PROTECTION, (SPECIAL)	1.00	LSUM	\$111,310.00	\$111,310.00	\$23,500.00	\$203,816.00	\$113,658.00
93	XX000856	MAILBOX REMOVAL AND RELOCATION	6.00	EACH	\$300.00	\$1,800.00	\$275.00	\$361.87	\$318.44
94	XX006343	SEEDING (COMPLETE)	321.00	SQ YD	\$12.50	\$4,012.50	\$13.00	\$13.00	\$13.00
95	XX206400	MAILBOX POST	1.00	EACH	\$25.00	\$25.00	\$160.00	\$400.00	\$280.00
96	Z0033700	LONGITUDINAL JOINT SEALANT	21,822.00	FOOT	\$2.50	\$54,555.00	\$2.75	\$3.01	\$2.88
97	Z0062450	SAWING PAVEMENT (FULL DEPTH)	14,744.00	FOOT	\$2.50	\$36,860.00	\$0.05	\$1.35	\$0.70
		Bid Total				\$3,365,931.75			